API NO. 15- 129-20,985-00-00

STATE CORPORATION COMMISSION OF KANSAS OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE

WELL COMPLETION FORM	LountyMorton
ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE	W2 NE SE Sec. 29 Twp. 34S Rge. 39 y West
Operator: License, #4549	1980 Ft. North from Southeast Corner of Section
Name: Anadarko Petroleum Corporation	
Address <u>P.O. Box 351</u>	Lease Name Hayward "J" Well # 2H
	·
City/State/Zip Liberal, KS 67905-0351	Field Name Hugoton
Purchaser: Panhandle Eastern Pipeline Co. (Transporter)	Producing FormationChase
(Transporter) Operator Contact Person: M. L Pease	Elevation: Ground 3321.3 KB NA
Phone (_316)624-6253	Total Depth 2997 PBTD 2930
Contractor: Name: Gabbert-Jones, Inc.	5280 4950
License: 5842	4620
	3960 3630
Wellsite Geologist: NA	3300
Designate Type of Completion X New Well Re-Entry Workover	2640 2310 1980
Oil SWD Temp. Abd. acf.	ENED 1650
Oil SWD Temp. Abd. PECF X Gas Inj Delayed Comp. Other (Core, Water Supply) Oetc.	710N COMM
STATE OF STA	20 1989
If OHMO: old well info as follows: Operator:	TON DIVISIONS SEE SEE SEE SEE ALT
If OLAWO: old well info as follows: Operator: Well Name: Comp. Date Old Total Depth	EVATION DIVERSAS EVATION DIVERSAS Feet Wichtgoulit of Surface Pipe Set and Cemented at 577 Feet
Comp. Date Old Total Depth	Multiple Stage Cementing Collar Used? Yes X No
Drilling Method:	If yes, show depth set Feet
X Mud Rotary Air Rotary Cable	If Alternate II completion, cement circulated from
5/4/89 5/6/89 9/28/89 Spud Date Date Reached TD Completion Date	feet depth to w/ sx cmt.
INSTRUCTIONS: This form shall be completed in triplicate a Derby Building, Wichita, Kansas 67202, within 120 days 82-3-106 apply. Information on side two of this form will writing and submitted with the form. See rule 82-3-	be held confidential for a period of 12 months if requested in -107 for confidentiality in excess of 12 months. One copy of all this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 all temporarily abandoned wells. Any recompletion, workover or
All requirements of the statutes, rules and regulations promu with and the statements herein are complete and correct to t	lgated to regulate the oil and gas industry have been fully complied the best of my knowledge.
Signature M. W. Krase	K.C.C. OFFICE USE ONLY
M. L Pease Title Division Production Manager Date	· ·······
	Comble Drillers Timelog Received
19 X9. Notary Public Cherel Steers.	Distribution SWD/Rep NGPA KGS Plug Other
Date Commission Expires A CHERYL STEERS	(Specify)
Notary Public - State of Kan My Appt. Expires (0 -) - 9	2

Form ACO-1 (7-89)

6

X

CT	DE	TUR

INSTRUCTIONS: Show interval tested, ti hydrostatic pressure if more space is necessarily to the space is necessari	i important tops ime tool open a es, bottom hole	nd closed, temperature opy of log.	flowing a re-	and shut-in pr	essures, whet	her shut-in pro	essure rea	ched static l
Drill Stem Tests Ta (Attach Addition		☐ Yes	₩ No			Formation Desc	ription	
Samples Sent to Geo	logical Survey	Yes			-	ka Log 🗆	Sample	
Cores Taken		☐ _{Yes}	No KS	Name		Тор	Boti	tom
Electric Log Run (Submit Copy.)		Yes	KX No	Blaine Cedar H Stone C Chase Council	Corral	1126 1266 1712 2566 2926	1 1 2 N	226 442 770 926 IA
Purpose of String	Report a	ll strings Size C	set-conductions	W Wew L. ctor, surface,	intermediate, Setting	production, et	# Sacks	Type and Per
Surface	12 1/4	8 5/8	. ود	Lbs./Ft.	Depth 577	Cement Pozmix &	Used 340	Additives 3% CC
Production	7.7/8	5/1/		14.0	2992	Common Class C	255	TO% DCD
						L		20% DCD
Shots Per Foot	PERFORATION Specify Footage	ge of Each			(Amount an	Fracture, Shot, d Kind of Mater	ial Used)	Depth
2 2	2604-13,263 2820-47	32~74, 20	691~273:	2, 2755-280	I WIR. Fra	W/12,200 g C W/72,000 % KCL WTR.	gal toa	med 0.5
TUBING RECORD	Size	Set A	it .	Packer At	Liner Run	☐ _{Yes} ☑	No	
Date of First Produ	uction Producin	ng Method	B _{Flowing} [Pumping	Gas Lift [Other (Explain)		
Estimated Production Per 24 Hours		Bbls.		40 Mcf Wat		Gas-Oil		Gravít
Disposition of Gas:	d Used on t	<u> </u>	ME)	THOO OF COMPLET		Dually Complete		Production Inte

INVOICE

019595 JOHN SHILLING



A Halliburton Company

REMIT TO: P.O. BOX 651046 DALLAS, TX 75265

> DATE INVOICE NO.

COMPANY TRUCK

76148

05/04/1989 785545

WELL LEASE NO./PLANT NAME WELL/PLANT LOCATION WELL/PLANT OWNER STATE 1.60 MORTON KS SAME HAYWARD J-2H CONTRACTOR * SERVICE LOCATION JOB PURPOSE TICKET DATE CEMENT SURFACE CASING 05/04/1989 GABBERT & JONES: #6 MIBERAL ACCT. NO. VENDOR NO. CUSTOMER P.O. NUMBER SHIPPED VIA FILE NO. CUSTOMER AGENT

33876

ANADARKO PETROLEUM CORP P. G. BOX 351 LIBERAL, KS 67905-0351

DIRECT CORRESPONDENCE TO: SUITE 600 COLORADO DERBY BUILDING WICHITA, KS 67202-0000

PRICE REF: NO.	DESCRIPTION	QUANTITY	U/M.	. UNIT PRICE	AMOUNT	_
DETCING ADI	A - MID CONTINENT	3 - 28 - Ew - Direct - 11 - 12 - 23		<u> </u>	1	_
000-117	MILEAGE	15	ΜI	2.20	33.00	
000 221	8. 4. 42 h-3. V h	1	UNT			
001-016	CEMENTING CASING	585		509.00	509.00	
772 720		1	UNT			
030-016	CEMENTING PLUG SW ALUM TOP	8 5/8		82.00	82.00	ź
*		1	EA			
504-043	PREMIUM CEMENT	143	SK	6.85	979.55	÷
506-105	POZMIK A	47		3.91	183.77	G
504-043	PREMIUM CEMENT	150	SK	6.85	1,027.50	*
509-406	ÁNHYDROUS CALCIUM CHLORIDE	7	SK	25.75	180.25	Á
507-210	FLOCELE	85	LB	1.21	102.85	ń
500-207	BULK SERVICE CHARGE	354	CFT	. 95	336.30	A
500-306	MILEAGE CMTG MAT DEL OR RETURN	237.4875	TMI	.70	1.66.24	A
					1	
•	INVOICE SUBTOTAL	·			3,600.46	
1.3	•				11	
	DISCOUNT-(BID)	ज़ुन् स			1,080.12-	
- Time 1	INVOICE BID AMOUNT) 1 12			2,520.34	
a ·	•	۸ ،	,		, , , , , , , , , , , , , , , , , , , ,	
	*-KANSAS STATE SALES	V 95 //		TY	85.65	
·	*-SEWARD COUNTY SALE			Theen	21.40	
•	•	10		· / /		
,		RECEIVED	NSSION	· /		
	11220 2041	CORPORATION COM		je		
·	4)21-10-1 STAI	RECEIVED E CORPORATION COMM	ÿ			
	4329-7041 STAT	UEGAS O				
•	V+ S-10	. 011	ISION:			
	<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>	CONSERVATION DIV	35	./		
1		CONSERVATION DI	-89			٠,
:		,			, a **	•
••	INVOICE TOTAL - PLEASE PAY THI	S AMOUNT ==	-		\$2,627.39	
		,			72,722	=
	TERMS AND OF PAYER ENET BY THE COTH OF THE EX	SULOWING MONTH ACTED	DATE OF	INVOICE HOON	•	

GABBERT-JONES, INC.

Drillers Well Log HAYWARD "J" 2H

SEC. 29-34S-39W

MORTON COUNTY, KANSAS

COMMENCED:

5-4-89

COMPLETED:

5-6-89

OPERATOR:

ANADARKO PETROLEUM CORPORATION

DEPTH		FORMATION	REMARKS		
From	- То		<u> </u>		
0 550 582 1270 1416 2105 2855	550 582 1270 1416 2105 2855 2997	Sand - Clay Redbed Redbed - Shale Glorietta Sand Shale Shale - Lime Lime - Shale	Ran 14 jts of 24# 8 5/8" csg LD @ 577' w/190 sks 25/75 Posmix - 2% CC 1/4# CF - 150 sks Common 3% CC - 1/4# CF PD @ 6:45 PM 5-4-89		
	2997 TD	RECEIVED STATE CORPORATION COMMISSION DEC 2 0 1989	Ran 71 jts of 14# 5 1/2" csg LD @ 2992' w/215 sks Class C - 20% DCD - 2% CC - 1/4# CF - 40 sks Class C - 10% DCD - 2% CC 1/4# CF. PD @ 11:30 PM 5-6-89.		

CONSERVATION DIVISION Wichita, Kansas

STATE OF KANSAS

COUNTY OF SEDGWICK

I, the undersigned, being duly sworn on oath, state that the above Drillers Well Log is true and correct to the best of my knowledge and belief and according to the records of this office.

ABBERT- JONES, INC.

James S. Sutton, 11 - President

Subscribed & sworn to before me this

10th day of <u>MA</u>Y ,1989.

Lola Lenóre Costa

LOLA LENORE COSTA NOTARY PUBLIC STATE OF KANSAS My Appt. Exp.